Law 1103/Civil Law & Procedure/Coughlin/F21

Name: Answer Key!! Date: Oct. 14, 2021 Score: 20 /20+2=22! ©

QUIZ 2: Structure of the Courts; Parties & Claims; Causes of Action & Remedies! (C&W chs. 2, 4, 5)
Each response is worth 2 points. "P" = plaintiff, "D" = defendant.
Fill in the Blanks! In each space, write the word that best completes the description of the level of the basic

U.S. court structure. You are given the first letter of each word as a hint! Do your best with spelling. One-half
point for each correct word, plus one-half point for effort (if you attempt all three words) = total of two points.

highest appellate court
intermediate appellate courts
trial courts

Multiple Choice! In the spaces at the left, write the CAPITAL letter of the best answer to each question.

_B_ 1. Adivorce case of a Staten Island couple would be decided by: (A) N.Y. Family Court, Richmond
County (B) N.Y. Supreme Ct., Richmond County (C) N.Y. Court of Claims (D) U.S. Supreme
Court

_A_ 2. An appeal of a decision of N.Y. Family Court for Manhattan would be decided by:
(A) Appellate Division, First Department (C) Appellate Term, First Department
(B) Appellate Division, Second Department (D) New York Court of Appeals

_C_ 3. An appeal of a decision by Appellate Division, Fourth Department, would be decided by:
(A) Appellate Division, First Department  (C) New York Court of Appeals
(B) Appellate Term, Fourth Department (D) U.S. Court of Appeals, Fourth Circuit

_B_ 4. An appeal of a decision by U.S. District Court for the Southern District of New York would be decided
by U.S. Court of Appeals for the Circuit. (A) First (B) Second (C) Third (D) Fourth

_D_ 5. An appeal of a decision by U.S. Court of Appeals for the Tenth Circuit would be decided by:
(A) U.S. Court of Appeals for the First Circuit (C) N.Y. Court of Appeals
(B) U.S. Court of Appeals for the Second Circuit (D) U.S. Supreme Court

_B_ 6. Aclaim by P that D committed a wrongful act that injured P, or P's property, or P's reputation, is a:
(A) contract claim (B) tort claim (C) jurisdiction (D) remedy

_A_7. Aclaim by P alleging that D failed to fulfill D's part of an agreement (D "breached" the agreement) is a:
(A) contract claim (B) tort claim (C) summons (D) remedy

_C_ 8. Coughlin takes Student's pen without asking, and writes with it till it runs out of ink. Student has a
potential cause of action against Coughlin for: (A) assault (B) battery (C) conversion (D) defamation.

BONUS! (1 point each—ONLY IF you answer ALL of the questions above!)

C_  The federal trial court whose geographic jurisdiction includes Brooklyn, Queens and Staten Island (and
the courthouse is located across the street from City Tech!) is U.S. District Court for the ___ District of
New York. (A) Northern (B) Southern (C) Eastern (D) Western

B Coughlin made terrible jokes in class all semester. After the semester ended, Student sued Coughlin for
infliction of emotional distress. The court issued an order that Coughlin may never tell a joke in class
again. What type of remedy is this? (A) declaration (B) injunction (C) damages (D) jurisdiction
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